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- Answer: Normalcy

Question 2: Fill in the blank with appropriate preposition: He would fly —— the door
with helping precipitation.

Answer: o

Question 3: Choose the word that best expresses the meaning of the underlined word:
The honeymoon period for the new government is over.

Answer: Inexperience

Question 4: Select the substitution that hestexpress opposite meaning of the
underlined word: His Speeches in inspired,

Answer: Lively

Question 5: Choose an alternative which can repl}a;;g the given words or sentence so as
to communicate the same meaning: A person whﬁ_h&s unusual or remarkable abilities.

Answer: Prodigy

Question 6: ‘I TeT Yy BT I a1 & 5 :
Answer: BT

Question 7: ‘QERTH I 1941 & @ HUIE 2

Answer: SGETSTH]

Question 8: MEfaf@a g & mﬁmmﬁmﬂﬁﬁmmaﬁ
Answer: WA

Question 9; ‘o193 § $179T 0TS 2

Answer: 8

'-@.

Question 10: IR 1 wel Aea s w1 2 2
Answer: UHTET

Question 11: 1Y BT=g 1 W8l faeiiw s w7 & 2
Answer. §H1Y
Question 12: T&3T & wele
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Question 13: T&dt wTUT % Weg WoeR A HARTE ?
Answer: HEpd

Question 14: W& & o Smar sromr Sw & 2
Answer: 15 RS Huwan

Question 15: Y& ieg BT 90 &Y |

Answer: TIEU

Question 16: FrafafEm 3 & fow voa & wurs ot 3 198, 2016 9wy o woge drom
BT HUEY fgy 2

Answer: Uttar Pradesh

Question 17: FrafefEs § 4 o7 o € g9 FEudafasvars 2
Answer: Cyclic Resource ‘
Question 18; BTG G+ TG S3OTT0T BEI TURAE ?

Answer: Assam

Question 19: FFrafefea & 4 st e ser sfem #t f -
Answer:

Question 20: FYPR & WU URET T UYH TR UY BT ?

Answer: Britain

Question 21: 9, 11, 33, 13, 15,33, 17 .. .. ARt Y qui &% |

Answer: 19, 33

Question 22: QPO, NML, KiL —— EDC e R &1 gif % |
Answer: HGF ‘

Question 23: B T2 g A gAfRE TR & 2

Answer: TET

Question 24: TTE g TP ﬁ'?ﬁf E: Hﬁﬁﬁ% 34t TSR He wﬁa%g
Answer: Gallon

Question 25 THF U HATE WW?IA B%W@T%Gﬁ'{ﬁ C & a7y sifv aur

Msmﬁ&ﬁ?% Bm s

s L2l
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Question 26: TS Te YUI0T TFeT 4700 H THEaT§ quT 800 TRAT W & T & | Tfy
7% 99 WpeT Bl 5800 F 47 A1 & I 39 frad wiwm wry g 2

Answer: 55111 %

Answer: Az=s> A

Question 27: 11 UFUITHT &7 39w 50 § | ol ved 6 wiomst &1 eﬁmaaﬁaﬁ?msm
52 €1, &1 TG4l URUTH HigH B9 2

Anszwer: 58

Question 28: Find HCF of 2x3x7 , 2x3x7
Answer: 126

Question 29: [a/b] = [bla] , then x is equal to ?
- Answer: x=4.5

Question 30: A dog takes 3 leaps for every 5 leaps of hare If one leap of the dog is
equal to 3 leaps of the hare, the ratio of the speed of the dog to that of hare is ? -

Answer: 8:5
Question 31: Which is the largest living bird on the Earth ? .
Anaswer: Ostrich
Question 32: HIFHI YR 514 & ToEd & Ty Hagaar &2
Answer: Premolar
Question 33: STeTR1 & et 171 Uebe €1 & Wi Hafta Uemey @1 ufvae= & |
| Answer: Scattering
Question 34:
Answer: Sulphur
Question 35: 20000hz ¥ fire el #t Ay art S s wex 2 >
Answer: Ultrasonic
Question 36: TS TR %WWWW% 7
Answer: TTaTE HHY e
Question 37: BRaren fawre wet &1 wren e ot off 2
Answer: SRITETH MKUS‘]_ man da com
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Question 38: e # foFd &7 Fmfu frg ST & T BT ? WA B R R
_ Answer: Qj?ﬁ‘ a9 ﬁﬂTﬁ"{“’f

Question 39: T. SIERTH, RITEATY Wilg T SH HET 5T 2

Answer: TEET

Question 40: TATIE ﬁv_ﬂaﬁm EER ? ?

Answer: BY

Question 41: TX BIEIH = HT A 9 [Mam w1 urg 3t 2

Answer: SN AyfEgEg

Question 42: T faedt o7 qEa ghvaron & B ﬁﬁﬁmm wEuE?

Answer: YTHEY

Question 43: EaTN wveR 3 f5w ARG 1 TUTer drat g e it 4 2

Answer: 29 July 2016

Question 44: M g R P wm & AT A ﬁ'ﬁﬁi‘!ﬁ ’Tiﬁ'%‘?

Answer: SToaTHT

Question 45: BRGT ¥ Wad ugen A e TPa FEIRIUAE ?

Answer: Frem

Question 46: AT %1 waw fawme , a8t e Y ug@d &1 Eﬁﬂ T W ST aTE ?

Answer: Brahma Sarovar

Question 47: IeaaTg &1 JHfaw Ton foes wwe ¥ wmmr e dar w1 gt faar 2

Answer: T8 %rg

Question 48: Ha¥ a1 TR BT eitaron & ey R A R & -

Answer: Hisar

Question 49; BTaron # S8 1 g9 e

Answer: HINHE

Question 50: BIATON §Re A IR § a7ivRe,

CRERIEE i

insverFEE TS oy Kushmanda.com 4
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Question 51: &S HHTH 3 WITUR fo= HIAT IR ForyTa faggr 2 AR AN R e oot
Answer:

Question 52: 1937 H f&sm HHIIH9 | ﬁ-mmﬁaﬁmfﬁmﬁz firett 2

Answer: Congress

Quiestion 53 mwwmﬁﬁﬁ%mﬁmﬁiweﬁ%ﬂﬁmwaﬁmm
Y ATTE R 2

- Answer: Gurgaon

Question 54: UTHIUg & argrel & iaar PREFTAME 2

Answer: Oil Refinery of indian Ol Corporation Limited

Question 55: SR BT Tirew e e ¥ e R A e o

Answer: TFEIETETE

Question 56: Hgwwilgs! & wi0r T Tvw=] firelt & i weR HE@yUl & 2 ‘
Answer: Great Bath

Question 57: I5T & Te=T f&5e wrar ﬁ'ﬁ% dt 2

Answer: UEHd -

Question 58: HId &1 §&T Hfﬁ @1 SfEuraA sigier AT g 2

Answer: 8.4 N Si&may

Question 59: M ¥ & #r=w1 e YIS UTE?

Answer: foEw

Question 60: WIGUTT THT HT T8 FT07 4T 2

Answer: TTHE TETE

Question 61: HRHT ST ST UGt ﬁﬁm*ﬂ'ﬂ'ﬁfﬁ?{ﬁﬁ‘f@é Ty mar -
Answer: 1956

Question 62: fFw a4 & wrea &FHQ?TQQN %aﬁawwwm ?

Answer: 1945

Question 63: UH UG F Aic qUT TH Wﬁ'%ﬁﬁ%?ﬂﬂ T B USR frarg

Answer: T8 dareg
~ - AN Kushimanda.com
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Answer: 24

Question 65: THIN TETT IS Ft ITeTE ofiv e & s o & 2

Answer: 2:3

Question 66: HRE & fre ST Y919 § HeuF UGRT & @l 17 2

Answer: 1962

Question 67: 1818 ¥ fary wrar & 3wy 7 T SIS HTH WHISR U TR gam o7 2
Answer: ITHT

Question 68: TdF HINH &7 U] BT Tt Wﬁgﬁgﬁﬁ AT ?

Answer: Dr. B.R. Ambedkar

Question 69: HRd WIS & TTY HIHY & HERTT wﬁmmmﬁwnﬁ g
EwarRIive foram ot 2 |

Answer: 26 October 1947
Question 70: fexifRraT W uvaTy o e frmr mar 2

Answer: 6 August 1945

.

Question 71: 2w 3 fvg af sritfrey o5 AAdl & AT & 2

Answer: 1783

Question 72: T auf ard BER ) Gﬁ@’ﬁ' Freit W@ﬁﬁmml‘ﬂ% ?

Question 73: I $rTer T 1A TaTsd forerd wgfifrm 1 Presdor g &
Answer: Bauxite

Question 74: fFg ad § A P T TeyE oy 2

Answer: 1845

Question 75: FE yRdi § d S & SR AGeT P71 v =ity TE B2
Answer: B. N. Rau

Answer: H

Question 76: I9 S31T® &7 mmm%mm -3 Tt E}f%ﬂ?ﬂ
IR TR TR 2
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Question 77: e & & &+t e wafirs Rl 2 2 A R ov 2016
Answer: Carbon Monoxide

Question 78: 34 2016 ¥ it ©w HET AUA BT ?

Answer: Rio de janeiro

Question 79: 139 ®u &1 o/ag Ay ﬁfm'@?ﬁ'ﬁ% ?

Answer: Tennis

Question 80: TfE U=Tas yv e 3pm BT 91 45 g:&f%srm? Wmﬂ VI UY 1 9HT B
2

Answer: § pm

Question 81: WA e £ T e wieeh v 31 e @rd U WA &
TER GTER1 A T4 aT6 WUH WREIT S a9 2

Answer: West Indies
Question 82: FUTH & Faf-aifem Ty Hft S0 2
Answer: Pushpa Kamal Dahal

Question 83: TXPT 7 HTH ﬁﬁ@ﬂ’f g ﬁ"ﬂ! ﬁﬁﬁ TR W'ﬂﬁTNﬁﬁf wea Fruffee fear
& :

Answer: 4%

Question 84: T¥g A BT A € ot ww & e wita v | w8 — wawfe weivus
AdTE g 2

-

Answer: 122

Question 85: 4 ST 2016 FT JAWYH Seifus BiATE # wum wwda wfiee 71 wam
HIoT a2

Answer: Nita Ambani
Question 86: =T T fawredt & & walfie Suges vt o1 o= AR 2
Answer: C==>2.68.3,5. 4.1

Question 87: faT 7g gl &1 avferaawR Sraafes #IRRA | 79T W =M W aF 718
STEE] T TG B |

Answer: Antigen

Question 88: W&l fawew @1 907 ST |
-~ wwww.Kushmanda.com

~



KUSHMANDA IAS HCS ACADEMY

. : . HARYANA CLERK EXAM 2016
ST : AT 22 T §78 HTHES | —e 13 NOV 2016
Answer: AT

Question 89: In the following four words, three are alike in some manner and the fourth
is different. Choose out odd one.

Answer: Medulia
- Question 90: Choose the missing term out of the given alternatives.
Answer: mrw

Question 91: Due to reduction of 25% in price of oranges a ';;ustamer can purchase 4
oranges more for RS. 16. What is original price of an orange ?

Answer: 1.33

Question 92: The average age of 30 students is 9 years. If the age of their teacher is
inciuded, it becomes 10 years. The age of the teacher (in Years) is:

Answer: 40

Question 93: Find the largest number which divides 62, mézm 237 to leave the same
reminder.

Answer: 35
Question 94: If [ alb Jx-1 = [ bla Jx-3, then the value of x is 2
Answer: x=2

Question 95: An electric Pump can fill a tank in 3 hours. Because of a leak in the tank, it
took 3 hours 30 minutes to fill the tank. In what time the leak can drain out all the water
of the tank and will make tank empty ?

Answer: 21 Hours
Question 96: Wright Brother are regarded as inventors of the:
Answer: Alroplal

Question 97: A body is floating in water at 4 C. If temperature reaches 100 C, then the
body will:

Answer: c==> Have some more part of it submerged under water
Question 88: Which of the following gases in air unites with many metals ?
Answer: Oxygen

Guestion 99 Whmh orgar ia affecion

©
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Question 100: The human cell contains:

Answer: 46 Cromosomes

www.Kushmanda.com
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